Sr Questions Answers Choice

1 ap NS Gy S Jleatid S e 5 (Sl (e Usdsy 5> 5o

2 = S nshassian S e S

3 US oma K K < A, e
=Bk D n S A U o8 £

U s S,

4 = LS s Wy My oS CS) 358 (e 235,

4 By

o «5""
L L.
e 353
BESSTY
D)

.
L

»
P
el

5 = S iy ol e (S 5a

6 = UAS o Wy b g o e S Sl o0 65 e 33

(ST R
Sloa a2
i us u—"‘:’}J
) S s

7 Sn oy S Aal e s S S e 78 S Oyl 5

s b
G sl e
e85
ETPT PPN

8 IR DR e, aa s S Jsslle S

oSsd
e shuld

9 s Juanid Jyie (e s S B, i

Wr DOWP» DOWP UOWr UOWP UO0Wr U0Wr UOW» U0wW» 00w

10 LTRSS TIPS



